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11.3.3
Let A = {a, b, c , d , e}. Suppose that R is an equivalence relation on
A and R has three equivalence classes. Also aRd and bRc . Write
out R as a set.REATA
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11.3.7
Define a relation R on Z as xRy if 3x ≠ 5y is even. Prove that R is
an equivalence relation and describe the equivalence classes.

if R is reflexive is xRx test xRx Sx Sx is even

but 3x sx 2x which is even

so R is reflexive

2 R symmetric.dakxRy yRx xRy means 3x Sy is
even

what about yRxo Is 3g SX even

3x sy Gy Sx 8 8y
y Sx Csx Sy tC8y 8 7T this is ecru
9 even evenso
peg yRx

3 transitivity so XRZ
Suppose 3x Sy is even

and 3 y SZ is even

3X Sy 2K and 3g SZ 2S

3X 2kt Sy and 52 3y 25
3 X S Z 2kt Sy 3yt2S 2y k



11.3.13
Suppose that R is an equivalence relation on a finite set A, and
every equivalence class has the same cardinality m. Express |R| in
terms of m and |A|.
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Choose AEA
a Carfax c R ar x i.e Casher

Ca l m then there are M elevenbiyou can put
so Caux cR

For each a c A there are in elements so that
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xRyf 3 x Sy even

X o Co y Sco Sy even

y 1Sy
even

o even integers

IT y 13 Sy
even

odd integers

xRy x y have same parity

xena
ood xRg xRy


